= HIaIIED)
mat: 2| of

chel: MEA ; FHI&CHEIER & ;;F%! EER=E)
A -3 - GRA(3) - ARAY - BES Ofl &4 I3 A ] ImE=r",

HIADIE 0t 912,536 917,644 ~5,108

= 91,515 91,515 0

kA 10,800 10,800 0

=S 810,221 815,329 ~5,108

0 HEss LSHSSEMALN/THLHLTY - 1<) 378,232 379,040 1808

= 91,515 91,515 0

E 10,800 10,800 0

S 275,917 276,725 2808

SEAl 2S5 IS UHIEIA = 114,283 114,731 N448

HI&CHE 22 =& 44,597 44,903 2306

202 Ot 4,754 5,060 2306

01 =LA 4,754 5,060 2306

Odlaiitl ge=d 4,754 5,080 A306

ez 54 Xd 53,686 53,828 A142

202 04t 1,286 1,428 A142

01 =LHoiH 1,286 1,428 A2

otz gRFd 1,286 1,428 A2

Sl tiSote 2Rt 29 263,949 264,309 A360

= 91,515 91,515 0

s 10,800 10,800 0

< 161,634 161,994 2360

el JIgHA &Y =8 5,240 5,600 360

202 048l 3,240 3,600 360

01 =LA 3,240 3,600 2360

ouy? HRFA 3,240 3,600 2360

=LA SN 2 (L33 AY/LEHT) 415,630 416,280 2650

o -2 gEsd 415,630 416,280 2650

ol -2t 2 NFHAN F=X 129,620 129,980 2360

202 04t 4,640 5,000 2360

01 2HAH] 4,640 5,000 A360

ol - 2 - 2 WFHAL = 4,640 5,000 A360

Hoi=el 3= 286,010 286,300 A290

202 048l 2,610 2,900 A290

01 =LA 2,610 2,900 N290

OXIE =LH0YI 2,610 2,900 N290

HY2IZHI(HIAII1=2) (DIEHDIIE 81,381 86,381 25,000

=8l 40,703 45,703 £5,000

SNEE Jl2dl 40,703 45,703 25,000

202 04t 3,980 8,980 15,000

01 =LH0iI 3,980 8,980 5,000

OF A2 =LY 3,980 8,980 15,000

HRES(HIAIIEDN) (SSEMLHN/THHATY - eIg2) 37,293 35,943 1,350
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